Commun. Korean Math. Soc.  ${\bf 27}$  (2012), No. 3, pp. 505–512 http://dx.doi.org/10.4134/CKMS.2012.27.3.505

# WEAK CONVERGENCE THEOREMS FOR EQUILIBRIUM PROBLEMS AND NONEXPANSIVE MAPPINGS AND NONSPREADING MAPPINGS IN HILBERT SPACES

#### LI JIANG AND YONGFU SU

ABSTRACT. In this paper, we introduce an iterative scheme for finding a common element of the set of fixed points of a nonexpansive mappings and nonspreading mappings and the set of solution of an equilibrium problem on the setting of real Hilbert spaces.

### 1. Introduction

Let C be a nonempty closed convex subset of a real Hilbert space H. Then a mapping  $T: C \to C$  is said to be nonexpansive if  $|| Tx - Ty || \le || x - y ||$ for all  $x, y \in C$ . We denote by F(T) the set of all fixed points of T, that is,  $F(T) = \{z \in C : Tz = z\}.$ 

A mapping F is said to be firmly nonexpansive if

$$|| Fx - Fy ||^2 \le \langle x - y, Fx - Fy \rangle$$

for all  $x, y \in C$ . On the other hand, a mapping  $Q : C \to C$  is said to be quasi-nonexpansive if  $F(Q) \neq \emptyset$  and

$$\parallel Qx - q \parallel \leq \parallel x - q \parallel$$

for all  $x \in C$  and  $q \in F(Q)$ , where F(Q) is the set of fixed points of Q. Obviously if  $T: C \to C$  is nonexpansive and the set F(T) of fixed points of T is nonempty, then T is quasi-nonexpansive.

The nonspreading mapping was introduced by Kohsaka and Takahashi [1]. Let E be a smooth, strictly convex and reflexive Banach space. Let J be the duality mapping of E and let C be a nonempty closed convex subset of E. Then a mapping  $S: C \to C$  is said to be nonspreading if

$$\phi(Sx, Sy) + \phi(Sy, Sx) \le \phi(Sx, y) + \phi(Sy, x)$$

 $\bigodot 2012$  The Korean Mathematical Society

Received January 7, 2011; Revised February 11, 2011.

<sup>2010</sup> Mathematics Subject Classification. 47H05, 47H09, 47H10.

Key words and phrases. nonexpansive mappings, nonspreading mappings, fixed points, equilibrium problem.

for all  $x, y \in C$ , where  $\phi(x, y) = ||x||^2 - 2\langle x, Jy \rangle + ||y||^2$  for all  $x, y \in E$ . They considered such a mapping to study the resolvents of a maximal monotone operator in a Banach space. In the case when E is a Hilbert space, we know that  $\phi(x, y) = ||x - y||^2$  for all  $x, y \in E$ , then a nonspreading mapping  $S : C \to C$  in a Hilbert space H is defined as follows:

$$2 || Sx - Sy ||^{2} \le || Sx - y ||^{2} + || x - Sy ||^{2}$$

for all  $x, y \in C$ .

Let H be a real Hilbert space and let C be a nonempty closed convex subset of H. Let f be a bifunction form  $C \times C$  to  $\mathbb{R}$ , where  $\mathbb{R}$  is the set of real numbers. The equilibrium problem for  $f : C \times C \to \mathbb{R}$  is to find  $x \in C$  such that  $f(x, y) \geq 0$  for all  $y \in C$ . The set of such solutions is denoted by EP(f). Numerous problems in physics, optimization, and economics reduce to finding a solution of the equilibrium problem.

In this paper, we will establish the convergence theorems for finding common solutions of equilibrium problem and fixed problems of nonexpansive mappings and nonspreading mappings.

## 2. Preliminaries

Throughout this paper, let H be a real Hilbert space with inner product  $\langle \cdot, \cdot \rangle$  and norm  $\| \cdot \|$ . Let C be a nonempty closed convex subset of H. We write  $x_n \to x$  to indicate that sequence  $\{x_n\}$  converges weakly to x.  $x_n \to x$  implies that  $\{x_n\}$  converges strongly to x. We denote by  $\mathbb{N}$  and  $\mathbb{R}$  the sets of all positive integers and all real numbers, respectively. In a Hilbert space, it is known that

(2.1)  $\|\alpha x + (1-\alpha)y\|^2 = \alpha \|x\|^2 + (1-\alpha) \|y\|^2 - \alpha(1-\alpha) \|x-y\|^2$ 

for all  $x, y \in H$  and  $\alpha \in \mathbb{R}$ ; Further, in a Hilbert space, we have that

 $(2.2) \quad 2\langle x-y, z-w\rangle = \parallel x-w \parallel^2 + \parallel y-z \parallel^2 - \parallel x-z \parallel^2 - \parallel y-w \parallel^2.$ 

For solving the equilibrium problem, let us assume that a bifunction f satisfies the following conditions

(A1) f(x, x) = 0 for all  $x \in C$ ;

(A2) f is monotone, i.e.,  $f(x, y) + f(y, x) \le 0$  for all  $x, y \in C$ ;

(A3) for all  $x, y, z \in C$ ,  $\limsup_{t\downarrow 0} f(tz + (1 - t)x, y) \le f(x, y)$ ;

(A4) for all  $x \in C$ ,  $f(x, \cdot)$  is convex and lower semicontinuous.

The following lemmas that will be used for our main result in the next section.

**Lemma 2.1.** Let C be a nonempty closed convex subset of H and f be a bifunction from  $C \times C$  into  $\mathbb{R}$  satisfying (A1)-(A4). Let r > 0 and  $x \in H$ . Then there exists  $z \in C$  such that:

$$f(z,y) + \frac{1}{r} \langle y - z, z - x \rangle \ge 0, \forall y \in C.$$

**Lemma 2.2.** Assume that  $f : C \times C$  into  $\mathbb{R}$  satisfying (A1)-(A4). For r > 0 and  $x \in H$ , define a mapping  $T_r : H \to C$  as follows:

$$T_r(x) = \{ z \in C : f(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \ge 0, \forall y \in C \}, \ \forall x \in H.$$

Then,

(1)  $T_r$  is single-valued;

(2)  $T_r$  is firmly nonexpansive, that is,  $\forall x, y \in H$ ,

$$||T_rx - T_ry||^2 \le \langle T_rx - T_ry, x - y \rangle;$$

- (3)  $F(T_r) = EP(f);$
- (4) EP(f) is nonempty, closed and convex.

**Lemma 2.3.** Let H be a Hilbert space and let C be a nonempty closed convex subset of H. Let S be a nonspreading mapping of C into itself such that  $F(S) \neq \emptyset$ . Then S is demiclosed, i.e.,  $x_n \rightharpoonup u$  and  $x_n - Sx_n \rightarrow 0$  imply  $u \in F(S)$ .

**Lemma 2.4.** Suppose that  $\{s_n\}$  and  $\{e_n\}$  are sequences of nonnegative real numbers such that  $s_{n+1} \leq s_n + e_n$  for all  $n \in \mathbb{N}$ . If  $\sum_{n=1}^{\infty} e_n < \infty$ , then  $\lim_{n\to\infty} s_n$  exists.

### 3. Main results

We are now in a position to prove our theorem for finding common solutions of equilibrium problem and fixed problems of nonexpansive mappings and nonspreading mappings.

**Theorem 3.1.** Let H be a Hilbert space and let C be a nonempty closed convex subset of H and  $f: C \times C \to \mathbb{R}$  be a bifunction satisfying (A1)-(A4). Let S be a nonspreading mapping of C into itself and let T be a nonexpansive mapping of C into itself such that  $F(S) \cap F(T) \cap EP(f) \neq \emptyset$ . Let  $x_n$  and  $u_n$  be sequences generated initially by an arbitrary element  $x_1 \in H$  and then by

(3.1) 
$$\begin{cases} f(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, & \forall y \in C, \\ x_{n+1} = (1 - \alpha_n) u_n + \alpha_n \{ \beta_n S u_n + (1 - \beta_n) T u_n \}, & \forall n \ge 1, \end{cases}$$

where  $\{\alpha_n\}$ ,  $\{\beta_n\} \subset [0,1]$  and  $\{r_n\} \subset (0,\infty)$  satisfy the following conditions:  $\liminf_{n\to\infty} \alpha_n(1-\alpha_n) > 0$ ,  $\liminf_{n\to\infty} \beta_n(1-\beta_n) > 0$  and  $\liminf_{n\to\infty} r_n > 0$ . Then the sequences  $\{x_n\}$  and  $\{u_n\}$  convergence weakly to an element of  $F(S) \cap F(T) \cap EP(f)$ .

*Proof.* First, we show that  $\lim_{n\to\infty} || u_n - Su_n || = 0$ . Note that  $u_n$  can be rewritten as  $u_n = T_{r_n} x_n$  for all  $n \in \mathbb{N}$ , take  $z \in F(S) \cap F(T) \cap EP(f)$ , we know that

$$|| u_n - z || = || T_{r_n} x_n - T_{r_n} z || \le || x_n - z ||.$$

We obtain from (3.1) that

(3.2)  $x_{n+1} = \beta_n \{ (1 - \alpha_n)u_n + \alpha_n S u_n \} + (1 - \beta_n) \{ (1 - \alpha_n)u_n + \alpha_n T u_n \}$ 

for all  $n \geq 1$ . Further, putting  $V_n = \beta_n \{(1 - \alpha_n)I + \alpha_n S\} + (1 - \beta_n)\{(1 - \alpha_n)I + \alpha_n T\}$ , we can rewrite (3.2) by  $x_{n+1} = V_n u_n$ , we have that for any  $z \in F(S) \cap F(T) \cap EP(f)$ 

(3.3)  

$$\| x_{n+1} - z \|^{2} = \| V_{n}u_{n} - z \|^{2} \leq \beta_{n} \| (1 - \alpha_{n})u_{n} + \alpha_{n}Su_{n} - z \|^{2} + (1 - \beta_{n}) \| (1 - \alpha_{n})u_{n} + \alpha_{n}Tu_{n} - z \| \leq \beta_{n} \| (1 - \alpha_{n})u_{n} + \alpha_{n}Su_{n} - z \|^{2} + (1 - \beta_{n}) \| u_{n} - z \|^{2} \leq \| u_{n} - z \|^{2} \leq \| u_{n} - z \|^{2}$$

$$\leq \| u_{n} - z \|^{2}$$

for all  $n \in \mathbb{N}$ . Therefore there exists

(3.4) 
$$\lim_{n \to \infty} \| x_n - z \|^2 = \lim_{n \to \infty} \| u_n - z \|^2 = \lim_{n \to \infty} \| V_n u_n - z \|^2$$

hence  $\{x_n\}$  and  $\{u_n\}$  is bounded.

From (3.3) we get

$$0 \leq || u_n - z ||^2 - \beta_n || (1 - \alpha_n) u_n + \alpha_n S u_n - z ||^2 - (1 - \beta_n) || u_n - z ||^2$$
  
=  $\beta_n (|| u_n - z ||^2 - || (1 - \alpha_n) u_n + \alpha_n S u_n - z ||^2)$   
 $\leq || u_n - z ||^2 - || V_n u_n - z ||^2.$ 

So we have

$$0 \le (1 - \beta_n)\beta_n(||u_n - z||^2 - ||(1 - \alpha_n)u_n + \alpha_n S u_n - z||^2)$$
  
$$\le (1 - \beta_n)(||u_n - z||^2 - ||V_n u_n - z||^2).$$

Since  $\liminf_{n\to\infty} \beta_n(1-\beta_n) > 0$ , it follows from (3.4) that

$$\lim_{n \to \infty} (\| u_n - z \|^2 - \| (1 - \alpha_n) u_n + \alpha_n S u_n - z \|^2) = 0.$$

From (2.1), we have

$$\| (1 - \alpha_n)u_n + \alpha_n S u_n - z \|^2$$
  
=  $(1 - \alpha_n) \| u_n - z \|^2 + \alpha_n \| S u_n - z \| - \alpha_n (1 - \alpha_n) \| u_n - S u_n \|^2$ 

and hence

$$\begin{aligned} &\alpha_n(1-\alpha_n) \parallel u_n - Su_n \parallel^2 \\ &= (\parallel u_n - z \parallel^2 - \parallel (1-\alpha_n)u_n + \alpha_n Su_n - z \parallel^2) \\ &- \alpha_n \parallel u_n - z \parallel^2 + \alpha_n \parallel Su_n - z \parallel^2 \\ &\leq (\parallel u_n - z \parallel^2 - \parallel (1-\alpha_n)u_n + \alpha_n Su_n - z \parallel^2) \\ &- \alpha_n \parallel u_n - z \parallel^2 + \alpha_n \parallel u_n - z \parallel^2 \\ &= \parallel u_n - z \parallel^2 - \parallel (1-\alpha_n)u_n + \alpha_n Su_n - z \parallel^2. \end{aligned}$$

Since  $\liminf_{n\to\infty} \alpha_n(1-\alpha_n) > 0$ , we get

$$\lim_{n \to \infty} \| u_n - S u_n \| = 0.$$

Since  $\{u_n\}$  is a bounded sequence, there exists a subsequence  $\{u_{n_i}\} \subset \{u_n\}$ , such that  $\{u_{n_i}\}$  converges weakly to v. From Lemma 2.3 we obtain  $v \in F(S)$ . We also show that  $v \in F(T)$ . In fact we have that for any  $z \in F(S) \cap F(T) \cap EP(f)$ 

$$\| V_n u_n - z \|^2$$
  

$$\leq \beta_n \| (1 - \alpha_n) u_n + \alpha_n S u_n - z \|^2 + (1 - \beta_n) \| (1 - \alpha_n) u_n + \alpha_n T u_n - z \|^2$$
  

$$\leq \beta_n \| u_n - z \|^2 + (1 - \beta_n) \| (1 - \alpha_n) u_n + \alpha_n T u_n - z \|^2$$
  

$$\leq \| u_n - z \|^2$$

and hence

$$0 \le (1 - \beta_n) (|| u_n - z ||^2 - || (1 - \alpha_n) u_n + \alpha_n T u_n - z ||^2)$$
  
$$\le || u_n - z ||^2 - || V_n u_n - z ||^2$$

so, we have

$$0 \le \beta_n (1 - \beta_n) (\| u_n - z \|^2 - \| (1 - \alpha_n) u_n + \alpha_n T u_n - z \|^2)$$
  
$$\le \beta_n (\| u_n - z \|^2 - \| V_n u_n - z \|^2).$$

Since  $\liminf_{n\to\infty}\beta_n(1-\beta_n) > 0$ , it follows from (3.4) that

$$\lim_{n \to \infty} (\| u_n - z \|^2 - \| (1 - \alpha_n) u_n + \alpha_n T u_n - z \|^2) = 0.$$

So we obtain from (2.1)

$$\lim_{n \to \infty} \| u_n - T u_n \| = 0.$$

Since  $\{u_{n_i}\}$  converges weakly to v, we have  $v \in F(T)$ . Next, we shall show  $v \in EP(f)$ . Since  $u_n = Tr_n x_n$ , we have

$$F(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, \quad \forall y \in C.$$

Note that by (A2), we have

$$\frac{1}{r_n}\langle y - u_n, u_n - x_n \rangle \ge F(y, u_n)$$

and hence

(3.5) 
$$\langle y - u_{n_i}, \frac{u_{n_i} - x_{n_i}}{r_n} \rangle \ge F(y, u_{n_i})$$

By condition (A4),  $F(y, \cdot)$  is lower semicontinuous and convex, and thus weakly semicontinuous. Since  $\frac{u_{n_i}-x_{n_i}}{r_n} \to 0$  in norm. Therefore, letting  $i \to \infty$  in (3.5) yields

$$F(y,v) \le \lim_{i \to \infty} F(y,u_{n_i}) \le 0, \quad \forall y \in C.$$

Replacing y with  $y_t := ty + (1 - t)v, t \in [0, 1]$  and using (A1) and (A4), we obtain

$$0 = F(y_t, y_t) \le tF(y_t, y) + (1 - t)F(y_t, v) \le tF(y_t, y)$$

Hence

$$F(ty + (1-t)v, y) \ge 0, \ t \in [0,1], \ y \in C.$$

Letting  $t \to 0^+$  and using assumption (A3), we conclude

$$F(v, y) \ge 0, \quad \forall y \in C.$$

Therefore,  $v \in EP(f)$ . Then, we conclude that  $v \in F(S) \cap F(T) \cap EP(f)$ . Next, we shall show that  $\lim_{n\to\infty} ||x_n - u_n|| = 0$ .

Indeed, let z be an arbitrary element of  $F(S) \cap F(T) \cap EP(f)$ . Then as above  $u_n = Tr_n x_n$ , and from (2.2) we have

$$\| u_n - z \|^2 = \| Tr_n x_n - Tr_n z \|^2$$
  

$$\leq \langle Tr_n x_n - Tr_n z, x_n - z \rangle$$
  

$$= \langle u_n - z, x_n - z \rangle$$
  

$$= \frac{1}{2} (\| u_n - z \|^2 + \| x_n - z \|^2 - \| x_n - u_n \|^2)$$

and hence

$$|| u_n - z ||^2 \le || x_n - z ||^2 - || x_n - u_n ||^2.$$

From (3.3), we have

$$||x_{n+1} - z||^2 \le ||u_n - z||^2 \le ||x_n - z||^2 - ||x_n - u_n||^2$$

and hence

$$\|x_n - u_n\|^2 \le \|x_n - z\|^2 - \|x_{n+1} - z\|^2.$$

Since  $\lim_{n\to\infty} ||x_n - z||$  exists, we have

$$\lim_{n \to \infty} \|x_n - u_n\| = 0.$$

Following we will prove  $\{x_n\}$  converges weakly to v. Since  $\{u_{n_i}\} \rightarrow v$ , from (3.6) we have  $\{x_{n_i}\} \rightarrow v$ . Let  $\{x_{n_j}\}$  be another subsequence of  $\{x_n\}$  such that  $x_{n_j} \rightarrow w$ . Then, we have v = w. In fact, if  $v \neq w$ , then we have that

$$\lim_{n \to \infty} \| x_n - v \| = \lim_{i \to \infty} \| x_{n_i} - v \|$$
$$< \lim_{i \to \infty} \| x_{n_i} - w \| = \lim_{n \to \infty} \| x_n - w \|$$
$$= \lim_{j \to \infty} \| x_{n_j} - w \| < \lim_{j \to \infty} \| x_{n_j} - v \|$$
$$= \lim_{n \to \infty} \| x_n - v \|.$$

This is a contradiction, so we have v = w. Therefore we conclude that  $\{x_n\}$  converges weakly to  $v \in F(S) \cap F(T) \cap EP(f)$ .

From (3.6) we conclude  $\{u_n\}$  also converges to  $v \in F(S) \cap F(T) \cap EP(f)$ .  $\Box$ 

### 4. Corollary

As direct consequences of Theorem 3.1, we can obtain two corollaries.

**Corollary 4.1.** Let H be a Hilbert space and let C be a nonempty closed convex subset of H and  $f : C \times C \to \mathbb{R}$  be a bifunction satisfying (A1)-(A4). Let Sbe a nonspreading mapping of C into itself such that  $F(S) \cap EP(f) \neq \emptyset$ . Let  $x_n$  and  $u_n$  be sequences generated initially by an arbitrary element  $x_1 \in H$  and then by

$$\begin{cases} f(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, & \forall y \in C, \\ x_{n+1} = (1 - \alpha_n) u_n + \alpha_n S u_n, & \forall n \ge 1, \end{cases}$$

where  $\{\alpha_n\} \subset [0,1]$  and  $\{r_n\} \subset (0,\infty)$  satisfy the following conditions:

$$\liminf_{n \to \infty} \alpha_n (1 - \alpha_n) > 0 \text{ and } \liminf_{n \to \infty} r_n > 0.$$

Then the sequences  $\{x_n\}$  and  $\{u_n\}$  convergence weakly to an element of  $F(S) \cap EP(f)$ .

*Proof.* Putting  $\beta_n = 1$  for  $n \in \mathbb{N}$  in Theorem 3.1, we get the conclusion.  $\Box$ 

**Corollary 4.2.** Let H be a Hilbert space and let C be a nonempty closed convex subset of H and  $f: C \times C \to \mathbb{R}$  be a bifunction satisfying (A1)-(A4). Let S be a nonspreading mapping of C into itself and let T be a nonexpansive mapping of C into itself such that  $F(T) \cap EP(f) \neq \emptyset$ . Let  $x_n$  and  $u_n$  be sequences generated initially by an arbitrary element  $x_1 \in H$  and then by

$$\begin{cases} f(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, & \forall y \in C, \\ x_{n+1} = (1 - \alpha_n) u_n + \alpha_n T u_n, & \forall n \ge 1, \end{cases}$$

where  $\{\alpha_n\} \subset [0,1]$  and  $\{r_n\} \subset (0,\infty)$  satisfy the following conditions:

$$\liminf_{n \to \infty} \alpha_n (1 - \alpha_n) > 0 \text{ and } \liminf_{n \to \infty} r_n > 0.$$

Then the sequences  $\{x_n\}$  and  $\{u_n\}$  convergence weakly to an element of  $F(T) \cap EP(f)$ .

*Proof.* Putting  $\beta_n = 0$  for  $n \in \mathbb{N}$  in Theorem 3.1, we get the conclusion.  $\Box$ 

### References

- F. Kohsaka and W. Takahashi, Fixed point theorems for a class of nonlinear mappings related to maximal monotone operators in Banach spaces, Arch. Math. 91 (2008), no. 2, 166–177.
- [2] Y. Kurokawa and W. Takahashi, Weak and strong convergence theorems for nonspreading mappings in Hilbert space, Nonlinear Anal. 73 (2010), no. 6, 1562–1568.
- [3] S. Matsushita and W. Takahashi, A strong convergence theorem for relatively nonexpansive mappings in a Banach space, J. Approx. Theory 134 (2005), no. 2, 257–266.
- [4] K. Nakajo and W. Takahashi, Strong convergence theorems for nonexpansive mappings and nonexpansive semigroups, J. Math. Anal. Appl. 279 (2003), no. 2, 372–378.

#### LI JIANG AND YONGFU SU

- [5] A. Tada and W. Takahashi, Strong convergence theorem for an equilibrium problem and a nonexpansive mapping, Nonlinear analysis and convex analysis, 609–617, Yokohama Publ., Yokohama, 2007.
- [6] \_\_\_\_\_, Weak and strong convergence theorems for a nonexpansive mapping and an equilibrium problem, J. Optim. Theory Appl. 133 (2007), no. 3, 359–370.
- [7] W. Takahashi, Fixed point theorems for new nonlinear mappings in a Hilbert space, J. Nonlinear Convex Anal. 11 (2010), no. 1, 79–88.

### LI JIANG

DEPARTMENT OF MATHEMATICS TIANJIN POLYTECHNIC UNIVERSITY TIANJIN 300160, P. R. CHINA *E-mail address*: jiangli780123@163.com

Yongfu Su Department of Mathematics Tianjin Polytechnic University Tianjin 300160, P. R. China *E-mail address:* suyongfu@tjpu.edu.cn